
Assembly Instructions

KIT Top Case 1106

Pietro Albamonte – 29-04-2015



2

4 Screws TBTI M6x30
(718.5.039.3CA)

Assembly Instructions: KIT Top Case 1106
Pietro Albamonte – 29-04-2015

4 Spacers d7xD10xD15 H19

(713.1.B27.1AA)
RH Strut Support
(473.1.D13.1AA)

LH Strut Support
(473.1.D14.1AA)



3

Pietro Albamonte – 29-04-2015
Assembly Instructions: KIT Top Case 1106



4

Pietro Albamonte – 29-04-2015

2 Screws TBTI M6x14
(718.5.032.3CA)

Assembly Instructions: KIT Top Case 1106



5

Pietro Albamonte – 29-04-2015
Assembly Instructions: KIT Top Case 1106



6

Pietro Albamonte – 29-04-2015
Assembly Instructions: KIT Top Case 1106



7

Pietro Albamonte – 29-04-2015

4 ScrewsTBTI M6x25

(718.5.037.3CA)

2 Screws TBEI 
M6x15 col.10x6
(772.1.107.1A)

2 Flanged Nuts DAX M6
(749.4.031.1A)

Assembly Instructions: KIT Top Case 1106

Clamp Plate
(829.1.E23.1A)

Rubber Pad Rear Plate
(866.1.202.1A)

Rubber Pad Front Plate
(866.1.201.1A)

Rubber Pad Clamp
(866.1.200.1A)

Support Plate Top Case
(829.1.E22.1A)



8

Pietro Albamonte – 29-04-2015
Assembly Instructions: KIT Top Case 1106

Screw TBTI M6x25

(718.5.037.3CA)



9

Pietro Albamonte – 29-04-2015
Assembly Instructions: KIT Top Case 1106


